EHFALDIE

=
2015%F4H 15

M F&
ILTSRIERICH T D FEGEREFE MRS, FHERICNA ., BER-HEAER. 555FERZ&>TH
RESN TS (RE-AERERIOWLTE, FEHERDHA) .
BFMIZEIUTDEBY,
FEERRFEY = [Ris% - GH-ER-RER 555568

Q) ARYIIT7ALIL
FRALTWWSRARYII7LILORKRIILUTDESY,

series { start = 2007.1
span = (2007.1,2014.12)
decimals = 1}
transform { function = log }
arima{model=(012)(011)}
regression { variables = (td1nolpyear Ipyear) — 7o ZEERIEMDIEEIL regression D{ 1 NEHIEE
save = (td hol)
user = (jap—hol)
usertype = holiday
start = 2007.1
file = “xoxx00000000000000x |
forecast { maxlead = 12}
estimate { save = (mdl )
maxiter = 500 }
x11 { print = (none + d10 + d11 + d16)
save = (d10 d11 d16)

seasonalma=x11default }

(3) FEHEHFDEH
AL 27 1 ALRDFEHERIS . HEFERBEAREHRAL TS,
BRMIZIE, T/ 26 FOFMHERE, LELQTHETSN T/ \GA—2EHL U F - HEL-IER - 5%
B-555FERMN . FEHEREFR. FIAL TS,



4) REBLE

TRk 26 FERFHIEICHL T, BEREASRHESN-RIIEEBENEET o387, FAXLUTDESY,

% Z2R HHERE mIEER
5 E TC 2011 03
LS 2009 01
‘ o LS 2011 03
o BB LS 2011 06
' = TC 2011 03
£ E — —
BEI X $§¢Eb~'ﬁ g LS 2011 03
E M AO 2011 04

<ITRAEERHDZE>

TC: temporary change
LS: level shift
AO: additive outlier

MUKV TRL 26 FFEBHAETIEIELT=(2) DANYITFZAILIFLTDESY,

regression { variables = (td1nolpyear Ipyear tc2011.3)

(6) FERBEEHDRNDONT

X=-12-ARIMA [ZHETHHEDHTNQDARYITFAILDEIRT file="XXXX=* "D ERH) IZDLNVTIE, LL

TDERY,

FEEHETEOMRER (BFERM) [2DWT, BEIZBITH2ENEND AIZHITAHFEH (AEENSEIER)
DHRBIZESBEH(A)EHA. RZ1ANS 12 BENZNIZEITE8ERDHRED FHIEB) ERDI-14.
BEIZBIT2ENENDO AOHREBE(A) HhSFEMEB) EZELSILV={EZE X-12-ARIMA [C5EZ TLVA,

R 26 FERHHIE TREALERRIE, UTDESY,

2R 3H 48 5H 6H 78 8A 98 10H 118 12H
20074 0.125 0.000 0000 -0375 0.000 0.000 0.000 0.000 0.000{ -0.625 0.000
20084 0.125 0.000 0.000] -0376 0.000 0.000 0.000 0.000 0.000 0375 0.000
2009% 0.125 0.000 0.000 0.625 0.000 0.000 0.000 1.000 0.000 0375 0.000
2010% 0.125 0.000 0.000 0.625 0.000 0.000 0.000 0.000 0.000 0375 0.000
20114 0.125 0.000 0.000 0.625 0.000 0.000 0.000 0.000 0.000 0375 0.000
20126 -0.875 0.000 0.000] -0376 0.000 0.000 0000, -1.000 0.000] -0.625 0.000
2013% 0.125 0.000 0000 -0.375 0.000 0.000 0.000 0.000 0.000{ -0.625 0.000
20145 0.125 0.000 0000 -037% 0.000 0.000 0.000 0.000 0.000 0375 0.000
20155 (B2 HiR) 0.125] -1.000 0.000 0.625 0.000 0.000 0.000 1.000 0.000 0375 0.000
20165 (B2 H) 0.125 0.000 0.000 0.625 0.000 0.000 1.000 0.000 0.000 0375 0.000




